Holiday Homework
Std. VIl Social Science

Dear Students,
Learning is the beginning of wealth.
Learning is the beginning of health.
Learning is the beginning of spirituality.

Searching and learning is where the miracle process all begins.

GENERAL GUIDELINES:

v All the questions must be done in the most creative, accurate and innovative
manner

v The activities must be done in the project files itself.
v Usage of pictures and graphs is compulsory for the activities.

v Project should be based on individual research.
Read NCERT chapters thoroughly and make optimum use of the practice manual.

1. India Political Map (one map for state & second map for union territory in
different colours)

2. History of Kendriya Vidyalaya

3. Sustainable development (as per instruction)

4. Write a paragraph on visit to historical place (1000 word)
OR



Prepare a travelogue on any museum you have visited and discuss how the
sources of history displayed there help us in reconstruction of past.

5. watch below mention movies and make your views in 1000 word
A. Gandi Directed by Richard Attenborough (1982)
B. Taare Zameen Par (Hindi movie)

C. Do Aakha Bara Hat (Hindi movie)
6. Short video film on social awareness ( Maximum 5 minutes )
7. Develop any skill (as per instruction) & make a report (1000 word)

8. Slogan Writing : Write slogans on the theme 'Water Conservation'/Proper
Management of Resources

9. Pasting Newspaper Articles Paste newspaper article on vegetation and wildlife.
Newspaper cuttings can be related to problems like deforestation, loss of habitat
due to mining, hunting, trade of animal parts, steps taken by Government for
protecting forest and wildlife.

Dates for submission of Holiday homework
23th June 2023



SUMMER VACATIONS HOMEWORK OF MATHEMATICS
CLASS 8 (Session — 2023-24)

1. Revise complete chapter no. 1,2 and 3. Also complete your fair
notebook.

2. Complete learner’s diary of chapter 1,2 and 3 in fair notebook of
Mathematics only. After completion of each chapter write
learner’s diary in this format:-

e What did | learn.
e What was challenging.
e What was interesting.
3. Complete your Multidisciplinary project of Mathematics.
roject — SUSTAINABLE DEVELOPMENT Goals as a
Mathematics student.
e Introduction=> Write meaning and importance of Sustainable
Development.
e Make a list of sustainable development goals.
e How Mathematics plays important role in achieving
sustainable development goals.
e Take reference from below &’ mentioned link.

e https://en.unesco.org/commemorations/mathematics/2020

1clusion of

*Note*- Project must be written on A4 size sheets.
4. Solve worksheets of chapter 1 and 2 in fair notebook. (Also write
statement of questions).
5. Solve competency based questions of chapter 1 and 2 in CBQ
booklet with pencil only.
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 WORKSHEET 1.1

I. Oral Questions

1.

2.

10.

11.

12.

13.

14,

15.

16.

What are rational numbers?
) -7

What is the negative of ??

What is the additive identity for

rational numbers?

Which rational number is neither

positive nor negative?

What is the product of a non-zero

rational number and its reciprocal?

Why are rational numbers closed under

multiplication?

Why are rational numbers not closed

under division?

What is the product of zero and a non-

zero integer?

What is the result when 0 is subtracted

from some rational number?

How many rational numbers can be

inserted between two distinct rational
numbers?

Double of a given rational is less than
the given rational number. Tell such a
rational number.

What is the product of 1 and a rational
number?

) . 3
What is the inverse of ? ?

Do rationals under

subtraction?

commute

Why is zero not the multiplicative
identity of rational numbers?

What is the sum of a rational number
and its additive inverse?

T A P S e

MATHEMATICS WORKBOOK-VII|

IL Fill in the Blanks

10.

11.

12.

13.

Fillin the blanks to make each statement true.
1.

The product of two rational numbers is
a number.

If @ and b are two rational numbers

with opposite signs, then the sign of %

1S and that of abis

is the additive inverse of g

For any three rational numbers a, b
andc,(a+b)+c= + (b +c)

: 3 :
Equivalent to 3’ whose numerator is

211s

8 23
t ti — and —, th
Between the fractions 35 an 70 e
greater is
The numbers and

are their own reciprocal.

Thereciprocal of % X (—72 ) 1s

The negative of — 1 is

The reciprocal of a positive rational
number is

The sum of a rational number and its
additive inverse is always

3Uefl2 Wh 32
—X|=+=|[==x=+

R \EHa g L

The three rational numbers lying
between—11and—15withdenominator

as 1 are ___ e and
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RATIONAL NUMBERS

pr t
14. For rational numbers :1-,; and o we
)

r
—+—|= +
S u

- and

have L X (
q

-10

15. The rational numbers

are on the side(s) of zero on

the number line.

WORKSHEET 1.2

: 5 e 514 A A N R

I. True/ False

State T against true statement and F against
false statement.

1. Every integer is a rational number.
« )

No whole number is a rational number.

C )

3. 1is the only rational number which is
equal to its reciprocal. ( )

.l\'l

a . )
4. If 3 is a rational number, then a

cannot be equal to zero. ( )
5. For all rational numbers a and b,
a+b=b+a. ( )
5 .
6. - 2 lies between —2and-3. ()
7. The reciprocal of a non-zero rational
number 2 is 2. ( )
q q
8. The additive inverse of -—]—~ Fua'l .
100 1.00

( )

9. Negative of 0 does not exist. ( )

A o1
10. Reciprocal of a!is —. ( )
a
11. For all rational numbers x, y and z,
x X (y—2)=xy—xz. ()
12. The rational number 0.33 in the form
P s L ) ( )
q 3
2 -4 .
13. = and e are not equivalent.  ( )

14. For every rational number x, x — 0 = x.

( -)

15. Everyrational number hasa reciprocal.

C )
-3. -7

16. — is greater than —. ( )

7 3

17. * A number of the form P s said tobe a
q

rational number if p and q are integers

and p # 0. ; ( )

18. The product of rational numbers is
distributive under subtraction. ( )

19. The product of 0 and 1 is always 1.
(<Y

B ko

; I| True/ False wnthjustlf' catlon e

State True or False and justify your answer.

1. If the sum of two rational numbers
is zero, then at least one of them is
negative.

---------------------------------------------------------------

---------------------------------------------------------------

2. [Everyrational number has areciprocal.

---------------------------------------------------------------

---------------------------------------------------------------
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3. i eadditiveinverseand multiplicative 3. Which of the fqllowing eXpresgg
shows that rational numberg
associative under multiplicatiop?

@ Ex(?ﬁxﬁjz(gxﬁ)x§

iOn\
inverse of % are — 2 and 2 respectively.

............................................................... 3°\7 5/ 3 7)%
............................................................... 2 —_6 § _ z 3 - 6
4. If a property holds for rational (b) 3><( 7 X 5)_ 3x(-5-x7]
numbers, it must hold for natural
bers and integers (©) 2x(—6x 3) (szj -6
1 i Sx|—x=|=|2x2]|, =6
. ¢ 3 \7 5)\53)"7

............................................................... 2 _6) 3 (-6 2 1
—X— | X—=| — x — el

............................................................... (d)(S 7) 5 (7"3}"5
5. If the product of two rational numbers

4. Togettheproduct1, weshould inly
is unity, then they are multiplicative multipl;

9

inverses of each other. 13 by
............................................................... 9 -9
ot p) —2
(@) 13 (b) T
13 -13
(c) ) (d) e
-4
5, O0+|—|=
&
—4
(@0 (b) %
-25
p. . (C) | (d) _4—_

1. A number of the form = is said to be a .
rational number if “ " 6. Multiplicative inverse of a negative
(a)p and q are integers' rational number iS
(b) p and q are integers and g # 0 (@) a positive rational number
(c) p and q are integers and p # 0 (b) a negative rational number
(d) pand g are integers and p # 0 also g 0. (N

2. The property that holds for subtraction @)1

of rational number is

-1.
: 7. The additive inverse of 5 1s
(@) Commutative property

(b) Associative property @9 () %
(c) Closure property
(d) None of these (c) ;91 @0

I
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8 13

. -3 (-T7).
8. The reciprocal of — X (—) is

10.

11.

12.

—-104
b) ——
21 ® 21

21 —921
©) To4 @ 104

If x is any rational number then x + 0
is equal to

b)0
(©—x (d) Not defined

The rational numbers are not closed
under

(a) addition
(c) multiplication

(@) x

(b) subtraction
(d) division
— (—x) is same as

(@) —x
©
X

Zero (0) is

(a) the identity element for addition of
rational numbers.

(b) the identity element for subtraction
of rational numbers.

(¢) theidentity element for multiplication
of rational numbers.

(d) the identity element for division of
rational numbers.

-5

13. The multiplicative inverse of — is

16

I T s oot e PR P I T O

14.

15.

16.

17.

18.

5 16
@ ® %

-16
© — d1
For rational numbers x and y, the
number that always lies between x and
yis
(a) 2xy (b) 2x

x-y xX+y
© =5 @ =

el g 1.

The multiplicative inverse of —1 = is

8 -8

£ b) —
@ - ® =

T 7
(© 3 @ —3

. 3 .

A rational number between Vi and P 18

6 !

2 b) —
() 5 (b) 94

4 19
(c) 3 (d) A
The reciprocal of 0 is
(@1 (b -1
0 (d) Not defined
If y is the reciprocal of rational number
x, then the reciprocal of y will be
(@) x )y

X
©= @ 2

y %
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WORKSHEET 1.4

&

Match the properties of rational numbers in Colum

n I with their examples in Colyp,, II .

‘ unn I (Property) -~ Column II (Example)
o o ) 7 16
(@ Commutativity under addition @) 16 . T =1
- —
1 .. oy L - 3 3
() Commutativity under multiplication (@) —+0=0+ 11
\.
(c) Existence of multiplicative identity ((27)) -8, = - .
11 8 8 11
(d) Existence of additive identity Gv) Z1,[2 X Dl (_ 1.2),3
—_— —X—=|=| —x= —
. 6 \9°5) 6 “9)"5
(e) Existence of multiplicative inverse (v) =4 + i 0
) 9 9
() Closure with respect to multiplication (vi) 4 X (§ 7 = k. x 3 + 4 %7
) B 7 \5 7 5 7
(g) A . tivi o g : —_
| ssociativity under multiplication (vii) ?1 x1 =1 x ki) |
(h)  Existence of additive inverse iy 3.(=8)_-3_3
(i) —4| —2 |22, °
—_— 3 5 5 5

) Distributive Property

T

T Ty

(ix) 4xl_4

1
4 and 3 are rational nu

§ = § is a rational number as

mbers.

|
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Solve the crossword and then fill up the
given boxes. Clues are given for across and
downward filling.

Across
2. All the positive integers excluding zero

are known as numbers.
9 =
6. = and — are numbers.
3 4
7. The addition, multiplication and

of two rational numbers lead
to the formation of another rational
number.

D

YA

8. For any rational numbers a;a~+0is

) a. —a
1nverse of —1s —.
b b

9. The

Down

1. Reciprocal is also known as the
multiplicative

3. Rational numbers can be represented
on a line.

4. The multiplication of rational numbers
is closure, commutative and

5. The of two integers may
not lead in the formation of another
integer.
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WORKSHEET 1.5

B i Gt R s e
AR LY S

- (Mad)
. Find the multiplicative inverse of
1 -4
_X__‘
3 9

2. Tell what property allows you to

t Ex -8—x5 as —31><§ X5
compue4 3 173 .

3. Use suitable rearrangement and find
the sum. '

4 (-4) 3 (-13
— 4| — [+ =+ —
55 :

(b) x= 3 10.

5. Verify the commutative property x + y
=y + x of rational numbers by taking

x=Zy=-%

11.

19 L B 1
The cost of i metres of wire 1s 3 —%l

Find the cost of one metre of the wire.

Write four rational numbers each less
than — 2.

! a -3
Write a rational number between ”
and O.

Write additive inverse of the following:

-5_2
—_ =
6 7

Write any two rational numbers whose
product gives — 1.

Simplify the following by using SUitablf
property. ]

B
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12,

13.

14.

Write any two rational numbers

X 4
equivalent to 9°

) 6
Multiply 13 by the reciprocal of 3.

Write any three rational numbers

. 5
which are greater than 3

Write any two rational numbers each

-3 .
greater than 7 and whose sum 1s 0.

9. The sum of two numbers is — 12. If one

of them 1s :f, find the other.

-—

= =il
3. Represent —g—and—g— on the same

number line.

4. Use suitable property to evaluate:

3 4) -4
7 5 5
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. WORKSHEET 2.1

l. Oral Questions

1%

o

(1]

~1

10.

What is the variable in the equation
2x—3="T77
If ax + b =0 is a linear equation, what

value 1s not possible for a?

What i1s the difference between LHS
and RHS values of an equation?

What is the solution to the equation
x=0?

What is the constant term in the
equation 2x — 3 = 0?

What change should be made on LHS

of an equation when we add 7 to the
RHS?

What is the solution of the equation
x—1=07?

Tell some equations in one variable, in

which coefficient of the variable is 5.

How many solutions can a linear
equation in one variable have?

Is 3x + 9 an equation?

l. Fillin the Blanks

Fillin the blanks to make each statement true.

1.

2.

g

Ifx-—3=0,thenx=
x

If —=1,thenx=
5 nx

The solution of the equation 3x — 4 =
1-2x1s

Ifx+5=4,then x=

The solution of the equation

18 |
2y=5y—? s .

10.

11.

12.
13.

14.

15.

16.

17.

18.

19.

20.

21.

If —x=0,thenx=

Any value of the variable which makes
both sides of an equation equal, is
known as a
Ix —

- 2).
Ify+2=17 theny=

Three consecutive numbers whose sum
is 12, are , and

of the equation.
= —12 has the solution

On subtracting 8 from x, the result is 2.
The value of x is

If3—p=4,thenp=
9 is subtracted from the product of p

and 4, the result is 11. The value of p

1s
If gx-2=5—§x,thenx=
5 5

The share of A, when T 25 are divided
between A and B so that A gets ¥ 8
more than B, 1s

If::i-x+2=7,thenx= X

%+ 30 = 18 has solution as

When a number is divided by 8, the
result is — 6. The number 1s

Aterm of an equation can be transposed
to the other side by changing its

After 18 years, Rihan will be 4 times
as old as he is now. His present age is

Convert the statement “Adding 15
to 4 times x is 25”7 into an equation
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WORKSHEET 2.2

1. True/False

State T against true statement and F against
false statement.

|

2.
3.

10.

X x
If—+1= —_ =

5 1 =4, then S 3. ( )
If 5x = 15, then 15x = 5. ( )

3 years ago, the age of a boy was y
years. His age 2 years ago was (y — 2)

years. ( )
If x 1s an odd number, then the next
odd number is 2(x — 1). ( )

In a 2-digit number, the units place
digit is x. If the sum of the digits is 9,
then the numberis (10x—-9). ( )

In the equation 2p + 7 = 4, transposing
7 to RHS, we get 2p = 3. ( )

If % — 100, then x = 500. ()

A linear equation in one variable can
have more than one solution.  ( )

A and B are together 90 years old. Five
years ago A was thrice as old as B was.
Hence, the ages of A and B five years
back would be (x — 5) years and (85 — x)
years respectively. ( )
If the sum of two consecutive numbers
is 87 and one of them is x, then the
other number is 87 — x. ( )

L. True/False with Justification

State True or False and justify your answer.

1 I8

If x is an even number, then the next
even number is x + 2.

---------------------------------------------------------------

---------------------------------------------------------------

bl |

14 34
— _Tx=-—4,thenx= —,
g -~ 35

------------------------------------------------------
“ee,
“,

-----------------------------------------------------
tee,
.,

The numbers of boys and girlsin g clas,
are in the ratio 5 : 4. If the numbe,
boys is 9 more than the number of i
then number of boys 1s 9.

8,

-----------------------------------------------------------

------------------------------------------------------------

The sum of two consecutive multiples
of 10 is 210. The larger multiple is 140

...............................................................

---------------------------------------------------------------

...............................................................

---------------------------------------------------------------

WORKSHEET 2.3

Multiple Choic_e Questions

Tick (V) the correct option.

Which of the following is a lineal
equation in one variable?

(@x+y=4 (b)x2-3=4
(c)4—x=5 (d)x=4+y

2. Which of the following is not a linea!

equation in one variable?
(@x+y=4 (b)2p+T7=3p

x . e
5 -4=73

—

@©y-4=0

Scanned with CamScanner



3. The solution of the equation ax + b =0

15

(a)x=% b)x=—b
_-b _ b
@x=— (d)x—g
. If4x—-5=17, then x 1s equal to
(a) 4 (b) 3
(c) 12 d)1

The shifting of a number from one side
of an equation to other is called

(a) transposition (b) distributivity
(c) commutativity (d) associativity
The number added to twice the rational

-4 | N
number — to get — 1is:

5 15
5
(a) 4 (b) 3
(©) 10 @ <
If % + g . :éé, then the value of x i1s
«ﬁ%f B)—12

-1
_3 =
© @ =
8. The solution of which of the following
equations is neither a fraction nor an
integer?
(@)3x+2=56x+2 (b)4x—-18=2
dx+T=x+2 (d)bx—8=x+4
9. On solving 4x — 5 = 3 — 2x, we get x
equal to
5 1
i b) =
(a) 3 (b) 3
4
— 4
© 3 @
10. If8—-3=17+ 17x, then x is
(a) a fraction (b) an integer
(c) a rational number
(d) cannot be solved
3 2 .
11. Valueof Pin —+P=—is
5 3
4 1
il b) —
(a) = (b) 15
(c) 10 @0

WORKSHEET 2.4

I. Match the Columns :

Match the items in Column I with the corresponding items in Column II.

Column I (Equation) ~ Column II (Solution)
1 2 o
(@) 3 =3 @) x=4
(b) 3x-5=17 @) x=-2
4 _
© -=+2=3 (iid) x=7§
1 1 +1
@) F¥-g%=" iv) x=1
(e) 5x—3=-7 v) x=-1
() 8x+9=3x-1)+7 () x=-4
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. 'Cro‘sswal"d'lsl‘ﬁlz-zléfﬁ e . o 7. A linear eqlfatlon in one variable hag
Solve the crossword and then fill up the 8. Branch of mathematics concerned With
given boxes. Clues are given for across and operation by symbolic numbers,
downward filling.
Down

Across 1. An equality containing a variable i

3x . . & ‘

4 - 5=2x isa equation in one known as -
2. x=-—Tisa of 9x + 63 =0
variable. 3. The highest power of a in g
6. The procedure of taking one term of an linear equation is unity.
equation from one side to other after 5. Every equation has two one on
changing its sign. its either side.
3.
2.
.
5.
6. B
7.
8.
_d
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WORKSHEET 2.5

R s Ty G

o

(1 Mark)

15 added to thrice a whole number

gives 93. What is the number?

Solve the equation 3x = 2x + 16.

If the sum of two consecutive numbers
1s 101, then find the greater one.

The breadth of a rectangle is x metre.
Find its length if the breadth is 2 metre
shorter than the length.

A rectangle is 10 c¢m long and 2y ¢m
wide. What is its area?

10.

If x + 71is an odd number, then find the
odd number just before it.

One year ago, the age of a woman was
y years. How old will the woman be
after 1 year?

If x is a multiple of 15, then what will
the next multiple of 15 be?

The perimeter of a square is (x + 3)
metre. What is its one side?
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HOMEWORK FOR SUMMER VACATION

SUBJECT — ENGLISH
CLASS -vill

1. MDP
As sustainable development is a part of every
walk of life, write 10 points on how you, as a
student, can contribute for this.

2. Write your plans for summer vacations on day 1. (
at least 5 points). As you move on, write how did
you complete those plans. (pictures can be used.)

3.No down any five or 10 news headlines from the
newspaper. Deliver the news as the news anchors
do on news channels. Make a video and send on
Google classroom. ( watch any anchor on English
news channel for help )

b



You Rajat, receive a phone call from your
father's office in his absence and have the
following conversation with the speaker. Write
a message , for your father as you have to go
for your tuitions. Put the message in a box.
Mr Gupta : Hello, is this 252586547

Yourself : Yes. May | know who's calling?

Mr Gupta : | am Suresh Gupta. Can | talk to
Mr Mahajan?

Yourself : | am afraid Daddy is not at home.
Do you have any message for him?

Mr Gupta : Yes, Please tell him that the
meeting fixed for tomorrow i.e. 15th June has
been cancelled

Yourself : Ok Anything else.

Mr Gupta :Please tell him that we shall let him
know as and when the next date for the
meeting, is fixed

Yourself : Ok uncle, | shall tell Daddy when he
comes back.



@ Fill in the blanks with adjectives of quality.

1. Thavea dress.

2. mangoes look yellow.

3. Helives in an house.

4. He entered through the door.

5. A man hved near the temple,

®Fill in the blanks with adjectives of number or
quantity given in the box.

1. 1 have cycs.

- X children were in the park.

3. There's water in the boule,

4. 1read stories from the book.

5. Wedon’'t have rice.

6. 1 have frnends.

7. She made only mistakes,

B. 1 will give the beggar food.

9. Our school won the prize.

10. passengers were hurt in the accident.

@ Fill in the blanks with possessive adjectives.

1. Do you live with parents?

2. Where s book? I can’t find it.

3. Shewashed hair and dried it

4. They were happy because team won the match.
5. Welove country,

6. He washed hands and sat down to cat.

7. The dog wagged tail i happiness.,

8. You should brush teeth twice daily.



Underfine the adjective in each sentence. Then, write the noun the
adjective describes on the line.

1. Caroline Cleaned her dircy room.

2. The painting was beautiful!

3. Daniel and his mother ate shortbread cookies.

4. 1 walked up the stairs of the old buliding.

5. Can you sing 3 soothing song?

6. Don't forget to bring your defiCious lunch!

7. We made a glass vase In Class.

8. Her brother forgot his plaid shire.

9. Pete’s naughty dog chewed his shoe.

10. Lincoln squinted as he looked at the bright sun.

11, The funny Clown juggled and told jokes,

12. My sieepy friend fell asieep in Class!




You are Vaishali Sharma/ Vaibhav Sharma,
the Vice Head Girl/Vice Head Boy of Oxford
High School, Bahadurgarh. Your school is
organising an inter class Drawing and
Painting Competition for classes V to VIII.
Draft a notice, words inviting the students to
participate. Give all necessary details.



Holiday homework of science for class 8

=

. What is Sustainable development in Science ?

N

. Put a Image/photograph of Sustainable development Goals.

3. Explain Sustainable development Roll in Solar energy and Crop
Rotation.

4. What are some key factors of Sustainability in science?

5. What are the 5R’S of Sustainability project?
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